Name Trigonometry, Test 3

Calculator Portion: You may use a calculator on this page.
1) Solve the following equation for x. Show all your work and circle your final answer(s). (14 points)

2 cos?(x) = cos(x)

2) Solve the following equation for x. Show all your work and circle your final answer(s). (11 points)

10
tan?(7x + 3) = 3



3) Solve for one of the missing angles in the triangle below. (Not to scale) (Be sure to label which angle you
solved for. You do not need to find the other two angles) (10 points)
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4) A certain tourist attraction has a rock that rises straight upward from the bottom of a valley. From
one point the angle of elevation of the top of the rock is 16.7°. From a point 168 feet closer to the rock,

the angle of elevation of the top of the rock is 24.1°. Draw a picture and determine how high the rock is.
(15 points)



Non-Calculator Portion: You may not use a calculator on the rest of the test.
5) Label the axis below and graph the function y = cos™*(x — 1) — 3. (13 points)
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6) On the axis below, graph the function r = cos(28). (12 points)




7) Find sin (113—;) (5 points)

8) Find cos(15?) cos(30°) — sin(152) sin(302). (5 points)

2tan(15°)

9) Find 1-tan2(15°)

(5 points)

10) Write v/3 sin(x) + cos(x) in terms of just a sine function. (5 points)

11) Find sin(22.5°) cos(22.5%). (5 points)



